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A3l 48 5H 6 A 7H 8H 9H 10H 118 12H 18 2R 3H & &t
v oo | BIEREAL | ., . = | BIEREL |, . = | STEEHL |, . o | SIEREL |, . = | FIERL | .., MERRL | ... = | FIERHL =| PER#E |, | AERSE | ., AERBL | ... = | AIERHE = | FIERHL = AIEELL
X% BN mwlng = ms[enE " ek mnaaE] . mwanE D e ma ek | ma nE]  E ma e R (e ek me anE ke aaE Tk | BeE | BAE
L HEHIRE (L AHhiE) 1,373.58| A3.6%| A 50.9[1547.01] 1.8%] 275 2920.59 A0.8% A 234
+ AIRE (B Hihi) 9555| 2.7%| 25| 97.01[A3.7%| A 3.7 192.56 A06% A 12
BAFIRE 37.62|A9.1%| A 38| 4841| 11.0% 48 86.03 1.2% 1.0
BEAL RER 21.64| 23.0% 41| 26.81| 46.9% 86 48.45 35.2% 12.6
FER 805.68| A10.8%| A 97.9| 746.12| A20.5%|A 1928 1551.80 | A15.8%| A 290.7
LEY)—2t 72—t (233407 A5.9%| A 145.9]2,465.36] A5.9%| A 1557 4799.43 A5.9%| A 301.7
® ETAB~3A) 4,799.43] A5.9%] A 301.7
OHIFI) =t 53— _ _ _ _ _ _ _ _ _ _ _ _
EE 48 58 6 8 78 8H 9H 108 118 128 18 2H 3A & &t
v o= | BIEREALE | . . = | BIERMAL | ., o = | BIEESLE |, . = | BIEREALE | . . = | FIERAL | .., BIERMAL |, . = | AIERZIL = | AIER#E |, . = | FIERBE |, AIERBL |, = | FIFERZL = | BRI = RIEELE
K5 BAR e mamae Dk (e masaa] e maE k] e e EEE [1RE BAR g e D EEE [1RE BAR s [ EEE [1RE BAR e [Ene
L HTIRE GLF#hiE) 233.71| A7.4%| A 18.7] 260.50 [A2.1%] A 55 49421 A4T%| A 242
L HAMIRE (RAHhE) 31.74|A11.1% A 40| 4008 | 36% 14 71.82 A35% A 26
RABTIRE (KFHhE) 46.26| A20.4%| A 11.9] 57.99 |AT7.4%| A 4.7 104.25 | A13.7%| A 165
RABTIR SR (FNH i) 16.08| A9.7%| A 17| 1899 | 07%| 0.1 35.07 A43% A 16
BEAL RER 8.77| A58.3% A 12.3] 17.56 | A0.1%| A 0.0 26.33 | A31.8% A 123
EE IR 145.70| A12.0%| A 19.8| 139.57 | A15.8%| A 26.2 28527 | A13.9% A 46.0
NFHI =2t 3—F 482.26| A12.4%| A 68.3| 534.69 [ A6.1%| A 348 1,016.95 A9.2%| A 103.2
R WA ~3A) 1016.95 | A9.2%[A 1032
OXRFH) =t 4— _ _ _ _ _ _ _ _ _ _ _ _
EE 48 58 6 A 78 8H 9H 108 118 128 18 2H 3A & &t
v = | BIEREAL | . . = | BIERMAL | ., o = | BIEESLE |, . = | SIEREALE | . . = | FIERL | .., BIERMAL |, . = | AIEREIL = | AIER#E |, . | FIERBEE |, AIERBL |, = | FIFERZL = | BIEREHE = RIEELE
K5 T I T i T T T ki T E T T Rl IE T e T e r T T i T T T T | Rl E T E L7 b EEE [1RE BAR g e D EEE [1RE BAR s [ D EEE [1RE BAR e EnE
e mEHEX | 18057|A4.1%] A 7.8] 200.11] 3.3%| 6.4 380.68] A0.4% A 13
JeisR | 41.55|A5.2%| A 23] 52.76] 12.6%] 5.9 94.31 4.0% 3.6
BEAL RER 24.44| 37.0%| 6.6| 2837| 265% 59 52.81 31.1% 12.5
EE IR 56.13| A0.1%| A 0.0[ 58.02[A126% A 84 11415  A6.8% A 84
BEHI)—t5—3 302.69[A1.1%] A 35 339.26] 3.0% 9.9 641.95 1.0% 6.4
R @A ~3A) 64195 1.0% 6.4
Q39— 3—DEE _ _ _ _ _ _ _ _ _ _ _ _
EE 48 58 6 A 78 8H 9H 108 118 128 18 2H 3A & &t
v = | BIEREAL | . . = | BIERMAL |, . = | BIEESLE |, . = | SIEREALE | ., . = | FIERL | .., BIERMAL |, = | AIEREILL = | AIER#E |, . | FIERBEE |, AIERBAL |,.. = | FIFERZL = | BRI = RIEELE
K5 BAR e mamae Dk (e maseae - e maE ke e | e EEE [1RE BAR g e D EEE [1RE BAR g om [m © EEE [1RE BAR e Ene
BT & U & 2,056.66| A4.6%| A 985|2,32286| 1.4%| 323 437952  A15% A 662
Y RER 54.85|A2.9%| A 16| 72.74] 24.9% 145 127.59 11.2% 12.9
EER 1,007.51| A105%| A 117.7| 943.71| A19.4%| A 227.4 1,951.22| A15.0% A 345.0
39—t A—AE [3.119.02] A6.5%|A 2178[3,339.31] A5.1%| A 1806 6,458.33| A5.8%|A 3984
# §4BA~38) 6,458.33| A5.8%| A 398.4
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